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r(u, v) =

 u
u+ v√

1− 2u2 − 2uv − v2


.dpey`xd ziceqid zipazd z` e`vn ('wp 12) (`)

.dipyd ziceqid zipazd z` e`vn ('wp 12) (a)

.qe`b zeinenwr z` e`vn ('wp 12) (b)
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z = cos(x) cos(y)

.x, y ∈
[
−π2 ,

π
2

]
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.(y ,x ly divwpetk) dpey`xd ziceqid zipazd z` e`vn ('wp 12) (`)

'wpl p(u, v) idylk 'wpn xzeia xvwd lelqna zkll dvex liihn ('wp 18) (a)
.lelqnd z`eeyn z` e`vn .q(u, v) idylk

:z = x2 + y2 ihtil` ci`eleaxt oezp .3

.qe`b zeinenwr z` eayg ('wp 12) (`)
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√
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.γ(t) = (t, t2/2) dnewrd ly zeinenwrd z` eayg ('wp 12) .4

.x2 + y2 + 2xy − z2 + 2x− 10 = 0 :ghynd beeq z` e`vn ('p 15) .5
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